Lesson 3 (7:25)

|Draw a square with an area of 25 square units.
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1= 1 6=36 112121 16%=256
2’z 4 7= 49 12’144  17°= 289
3= 9 8= 64 13’169 18°= 324
4= 16 9% 81 14°=196 19%= 361
5= 25 102100 15’225 20%=400

Draw a square with an area close to 12.
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The Campbell's square patio has an area of
184 square feet. What is the length of each
side of the patio to the nearest foot?
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CAUTION

Between which two square roots does
7 lie?

J6 and 8

J23 and V30
\/ﬁand\/‘ﬁ
\/Eand@

OO0 wp

0 CORRECT ANGWER:

Q TRiCkY DiSTRACToR:




